MS LEY

GCSE Mathematics
Practice Tests: Set 7

Paper 2F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

¢ Use black ink or ball-point pen.
« Fill in the boxes at the top of this page with your name,
centre number and candidate number,
* Answer all questions.
o Answer the questions in the spaces provided
— there may be more space than you need,
¢ Calculators may be used,
s Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

= The total mark for this paper is 80
s The marks for each question are shown in brackets
" — use this as a guide as fo how much time to spend on each question.

Advice
» Read each question carefully before you start to answer it,
+ Keep an eye on the time.
o Try fo answer every quaestion.
« Check your answers if you have time at the end.
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Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

Fachons 0’? on H-moud'

% of the people at a swimming club are girls.
The rest of the members are boys.
What fraction of the members are boys?
=
5 = _—
—_— 2. =) g
8 Q .....................................................
(Total for Question 1 is 1 mark)
2.  Change 5.5 metres into centimetres. metnc Conversions
I =100 m
S Sm = SSOcm | (5 S—) ................................... g‘ .... Qean Hmetres
(Total for Question 2 is 1 mark)
3.  Here is a list of fractions. ;
3 79 15 Equivelext Fochens
9 15 21 30 45 3 L3 -
¢ 2. an —_ —>
One of these fractions is not equivalent to — s — =2 F .1 g P I
5 9 32 IS_ 3 2.\ 3 ‘==
. . = 30 10
Which fraction? <P . - il —
- o = .
- - ‘5

(Total for Question 3 is 1 mark)
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4.  Write down an even cube number.

\, 8,1% Sk
| i g

(Total for Question 4 is 1 mark)

5. 1kg=2.2 pounds C,w\\l%\r\ﬂ Onees
Change 44 pounds to kg.

(Total for Question 5 is 2 marks)

6.  There are blue counters and green counters in a bag. ah's onot ~:
The ratio of blue to green counters is 1:6. 2 h G SR

Write down the fraction of blue counters in the bag.

(Total for Question 6 is 1 mark)
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7.  The diagram shows the positions of White Tor and Gilly Tor on a map.

White Tor
X

X
Gilly Tor

The scale of the map is 1 centimetre represents 2.5 kilometres.

Work out the real distance between White Tor and Gilly Tor.

Scaly bena & . 8 oo
Q\LL}EQQS’W &t 16.2

[y

), &6 )

, 6 2SS kilometres

(Total for Question 7 is 2 marks)

8.  Here are the first four terms in a number sequence. Lu\a_a_,/ [=]<
+ d Seqguance B

i
—— = —
5 8 11 14

Kasey thinks that the number 34 is in this sequence.

Is Kasey correct?
Y ou must show how you get your answer.

UP:SQ*J'EVJ*HW\Q_ W\ 15 20 2= 26 24 =z 73S

Cenclodrea s \CM-Q_j S woreng)

(Total for Question 8 is 3 marks)
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9.  Ursula is planning a party for 120 children.
She is going to give every child a toy.

A pack of 8 toys costs £4.35

Work out how much Uzma will have to pay for the toys.

Num\no.fo—%pamr\o_agkd 12O0= ¢ = |S—()CAC_\A-§

lpeck = 2G2S | (X1S)... ISpacks = £ 1,.3S5<1S
= féas.zs

(Total for Question 9 is 3 marks)

10. A bowl contains

Condonoan S
1 apple
1 banana
1 orange
and 1 peach
Jess takes 2 pieces of fruit from the bowl.

Write down all the possible combinations of fruit that Jess can take.
(A (AO) (AP), (B 0), (BP) (0,0 ...

(Total for Question 10 is 2 marks)
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11. There are 500 passengers on a train.

7
o8 of the passengers are men.

40% of the passengers are women.
The rest of the passengers are children.

Work out the number of children on the train.

Men = soO = I1FS
— 20
T L{-OG/DUg SO0 = i e % SO0 = 2O
SO0 —13F+S—200 = 128

(Total for Question 11 is 3 marks)

12. A‘“@&D

Tom says,
“4BC cannot be a straight line.”

Explain why Tom is correct.

(Total for Question 12 is 2 marks)
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13. Bhavin buys a car in a sale.

Before the sale, the cost of the car was £6720
In the sale, the cost of every car is reduced by 20%.

Bhavin pays a deposit of £1500
He will pay the rest of the cost in 24 equal monthly payments.

Work out the amount of each monthly payment.
You must show all your working.

COS'\‘GF Cour %67&6 — Q_Oo/o
QO"/c crg ;ﬁQ;‘-‘.L?_Q) - 0.2 )C{GFF'ZO = il%u-q.

£5336

I

16320 ~ £Z3ul

Topoy affes depast: | L5276 - fisoo = £3936

Cesdt+ per Mmontn : | £Z38F6 T2 = £161. SO

(Total for Question 13 is 3 marks)
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Preo. of 2D ShogesS

14. Here is a rectangle.

Diagram NOT
dem =
accurately drawn

10 cm

The 12-sided shape below is made from 4 of these rectangles.
L‘_

L‘.-

Work out the perimeter of the shape.

Permater| = Lot 4+ 10 + 4+ +1@ B+ +1O FLr+1(0
ﬁf-
&—

Wk =0 o -

= U4 eHiD FErase FYr6e rig Hatd6 Lo

= YO~

——

(Total for Question 14 is 3 marks)
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15. Here are the ingredients needed to make 8 shortbread biscuits.

Shortbread biscuits
Makes 8 biscuits
120 g butter
60 g caster sugar

180 g flour

Tariq is going to make some shortbread biscuits.
He has the following ingredients

330 g butter 200 g caster sugar 450 g flour
Work out the greatest number of shortbread biscuits that Tariq can make with his

ingredients.
You must show all your working.

Bk Ones per ;e 32O 20a = 2.FS \oks  (bullzr)

2009 = 603 = 3-%’:’:_ Leks (Suﬂor)

SOg = 1809 = 2.S \leks (flowr)

.28 barhe= o Ssworteoreod

g[Pef houtch 2-5X € =20

........................................................... biscuits

(Total for Question 15 is 3 marks)
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Scatles Grarghs

16. Jean records the maximum daily temperature each day for 10 days.
She also records the number of children going to a paddling pool for each of these days.
She draws this scatter graph for her information.

Number
of 25

children A BN S AR

o
oo
12
i
taa
"
o
p—
rh
v

16 t7 18 19 20 21 22 23 24 25

Maximum daily temperature (°C)
Jean’s information for one of these days is an outlier on the scatter graph.

(a) Give a possible reason for this.
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On the 11th day, the maximum daily temperature was 19 °C.

(c) Write down an estimate for the number of children going to the paddling pool on
the 11th day.

DM e OF BEST FIT. i

It would not be sensible to use the scatter graph to predict the number of children going
to the paddling pool on a day when the maximum daily temperature was 13 °C.

(d) Give a reason why.

1)
(Total for Question 16 is 4 marks)
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17.

(a) Complete the table of values for y = 3

X

x 0.5 2 4 5 6
y S 15 075 | 06| O.S
@
(b) On the grid, draw the graph of y = 3 for values of x from 0.5 to 6
x
VA
6}
5
4
1
2
el p—
==
0 I 2 1 5 6 ¥
2

(Total for Question 17 is 4 marks)
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18. Sameena has a round pencil case and a square pencil case.

Q4 N -
There are 4 blue pens and 3 red pens in the round pencil case. Plbwe) = el “Yoxash F
There are 3 blue pens and 5 red pens in the square pencil case. p (b)) = 2 ... " Rcut of 8"
8

Sameena takes at random one pen out of each pencil case.

(a) Complete the probability tree diagram.
round pencil case square pencil case

blue

_,w
\

—Li blue
Eg =
¥
red
= blue
a g
‘?-
red
—
& \
red
(2)
(b) Work out the probability that the pens Sameena takes are both red.
P(LsR) = 2 xs = 1S
T 9 56
P
IS
S6

(2)
(Total for Question 18 is 4 marks)

Edexcel GCSE Mathematics (9-1) Practice Tests Set 7: Paper 2F — Spring 2018 13



19.

|
(=)}
|
A
|
‘2
|
1.3
|
et
p—
()
‘2
4+
&l
N
£

(Total for Question 19 is 2 marks)

20. Katie has x pets.
Agatha has twice as many pets as Katie.
Isabel has 3 more pets than Katie.

(_'\(__CTM).@ ’-@(P,-e_pgt‘&\g‘

Write an expression, in terms of x, for the total number of pets that Katie, Agatha and Isabel

have.
Tetal = Cabhet A-So:\’b-\& +Iec\oe|
- 2 + eat. 4 AL
CotlotF . - ux+> L u.oc:t—-:s ..................
_ (Total for Question 20 is 2 marks)
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21. Solve the simultaneous equations

@ ()

- O
(= —=21)

Poctr Y=-2 o (D

dx+y=10
x—5y=13

Lf:x:-tcj—,-no @
’T‘-—S&j: 13 @

prC—ZIOJ= 51 B o S:,QROP'&& P\m
e + 4 =to (D

—-ZO:)—-:) -_—?,\J
—Q\Cj::l-\—?_
:j = —2
———
'—'rautj =10
bx+(2) ='0
p = A

(Total for Question 21 is 3 marks)
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Inoquaiities on Numoes Luas

C ot =2 F TT INCWOES +

' :

22. Here is a number line.

v
-

yrog

(a) On this number line, show the inequality -2 < x <3

(b) Solve 5n+3>27 SO\U\-‘S Whaguolives
Sar2 523
(3 | S Dy

(%) he D e

()

2

(Total for Question 22 is 4 marks)
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23. The diagram shows a shape ABCDEF.

Gem

IF@ WV

All the corners of the shape are right angles.
The perimeter of the shape is 28 m.

Work out the area of ABCE shown shaded on the diagram.

Permote =2%
Colect

(—12)
(=2)

(D A=loxin

2
@ A=l
=

Total Non—< I(\_o\d.p_d

= taa! Preco
Ccenparnd Shape)

Shaded = Toted = Nen Shadod

X +xXL+6ete = 28
2 9 — \ &

g7
A= XY =322 = bm*
_.L'_" =
PR lrésml = ’Z’S-M‘L

(2o + (L) = 6" 320" = 38K

A A = R

—

(Total for Question 23 is 5 marks)
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Interpexg fie Chorks

24, There are 240 students in Year 7 at a school.

The pie chart shows the proportion of boys and the proportion of girls in Year 7.

Y

There are 8 more girls in Year 8 than in Year 7.
There are 32 fewer boys in Year § than in Year 7.

Andy draws a pie chart to show the proportion of boys and the proportion of girls in Year 8

Work out the angle of the sector in Andy’s pie chart that represents girls.

Numbe/ o ofs iaM7F: | 1FF
260

W 2O

\

& %\J-\_s S h

Numbes o bous 17 oy 6 12 (22 loyS 1F

1"

CGarls un tj\ecr 8L 2 + B = \2€ 3\.\/“\5 H%8
@c:j_s on neof £ (L2~ - a0 laods Y&
Boys Preperhion = s & S = 5L
J CPC( Tota) do+% 2\ 6
C‘f
o 2 = SO D

Sector size ( Brys) =

Secter size ( G’irlsl

il

> Total fi ion 241 K
R0 1w e @mar )
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25.

26.

Eror Indevalds

A number, y, is rounded to@igniﬁcant ﬁg@

The result is 0.76 O.0l- 2=0-00%
Write down the error interval for y. J\‘ﬁg O FES MRX
o -'?'6\ D.FSS WA
—0-0o%
............ OSS &S0 FeS

(Total for Question 25 is 2 marks)

M = 3 2 _ . n
. SudesStrudicn

Work out the value of M when x=-2andn=23

M-~12 (<2)*- (5)(—2-) e— POT T CfeourTol

—

L 2

(Total for Question 26 is 2 marks)
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Shang Rayg

and quicklime in the ratio 1 - 2 - 3

Mortar mix is made by mixing cement, sand

(2) Work out the volume of sand needed to make 2.1 m* of mortar mix.

Tote) PMS = easea £
PQPQJ"’!\U\ > I P QFPQH-S

(~6) O.35m = | pPart
crs | 12 o=
)

(x23) 0.3 0 F .08

—

oOF

............................ m
(2)
Julic has 0.75 m? of quicklime.
She has plenty of sand and cement.
(b) Work out the greatest volume of mortar mix she could make.
3
i T
O.25m = ) [30/‘*‘
C- ‘_ S.- Q ‘ " 27 '31
L oL 3
(xons)| ©L¥i0.59:0FF
Df’c{)of}'\.cv Cayerd = 5
-
............................ m
(2)

(Total for Question 2 is 4 marks)

Edexcel GCSE Mathematics (9-1) Practice Tests Set 7: Paper 2H - Spring 2018



FCY\’V\A.;‘LJ oAl SQ\J\AJ\‘j
Lnedy egpaivon s (ongled

Diagram NOT
accurately drawn

\(3.1‘ + 3

[n the isosceles triangle ABC,
AR = AC

angle B

(B 32)°
angle C'= (87 - 2x)°

Work out the valuc of x.
You must show your workin e

-~ ¥+
S = @b
D = |

(Total for Question 3 is 4 marks)
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(opeoted 7o Choroe.

29. Samir invests £350 in a savings account.

He gets 2% per annum compound interest.
How much money will Samir have in the account at the end of 3 years?

s 3
tat x.mubp\w’—'—Ew\ i’gso % 102" = Bnd -.=£g"+l.%~?,
pulbiphar = 2/ =toL

—

(Total for Question 29 is 2 marks)
30.

Solve 3(2z—5)=4z+11

Sdvin 9 Q:aU\.@H an

Wz -S) T2+ (
Expond | €2 =IS = L+
(-«3) 2% —IS = ul
(4 15) 2= = 26
(=2) = = B

=132

(Total for Question 30 is 3 marks)

TOTAL FOR PAPER: 80 MARKS
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